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Unfold Every Question

WWT - [ ( deh ITfeRT )

e (1-10) : feu 7w fawmeat ¥ | W«
T/ 9T /HEAT/ 3T el |
1. guErd : fFOug e o ?
(A) et HET (B) e @
(C) Tfe=a e (D) &0 Y& T
2. URS:IA::UEl:?
(A) TRt (B) sfrer
(C) =< (D) T
3. ACEG :IKMO :: QSUW : ?
(A) YZCE (B) YACD
(C) YBCE (D) YACE
4. 16:56::32:7?
(A) 96 B) 112
(C) 120 (D) 128
5. Hal:THUE: : JAdE ;P
(A) &R (B) fedraes
(C) et (D) wead
6. 182:?::210: 380
(A) 342 (B) 272
(C) 240 (D) 156
7. 7:17::?:49
(A) 23 (B) 26
(C) 124 (D) 126
8. DEAD : WVZW : : FGCF : ?
(A) UTXU (B) TUUX
(C) UXTU (D) UUTX
9. U MHfaAr
%4
[ o] 5
Entdcicane )

ol ]fgre]

V| 4

(A) (B) ©) (D)
10. U&EIM: {H&®IT:: ? X
(A) g9 (B) WrEgHd
(C) TF=SIa (D) 1

fEwr (11-14): feu 7o fawmedt © @ fauw o /e18)

HE S

11. (A) &K - 58
(C) 1 - &T

o

(B) &mafd - sHfd
(D) 31 - ¥«

12. (A) DEFG (B) FEHI
(C) HGIK (D) JILM

13. (A) ZVRN (B) UQMJ
(C) SOKG (D) TPLH

14. (A) 52,68 B) 63,77
(C) 64,80 (D) 50, 66

15. T g o<t HeAg o 12 9 1 H6Y S0 21 S
I 1 5 T 1 FHY W o oA =gt 1 6 1 g8

foat feuft =i?
(A) 150° (B) 154°
(C) 125° (D) 120°

16. A,B,C,D,E,F 3R G U & tfew o qd &1 @& e
FH o8 21 C, D % THeH @ a1 2| B ufE &
THeH B W 931 8 3 3Hs T4 E¥31 81 G, E 3R
F & = o oa1 81 D st fl 9 ot e W Sa0
21 98 =AfF ®IH 2 S THTH BR W &3 g 2
(A) A SR E (B) A 3R B
(C) F iR B (D) C 3R D

17. ©dr el &1 9dist g1 39l &1 Hma ded 2
FeAO edfl H1 WA g1 HeAon 1 ufq e B
Treidt TiaTel 1 G g1 Hidl w1 W 9 e Ge g2

(A) IR H A B

(B) Tiarer iar e fan €

(C) Har Tt =Y IR ©

(D) =fae/ardt
feor : (v W 18 | 19 ) aek et arteRfa W snenfa
?1 T armeRfar w1 a1em wiIfNE 3Ryt & Swe i

A ch clleh Y
FDL%B T

18. &N ¥ 21&% 37 FFN F A ¢ o 7 fomE €,

EEIlEED

T & e §7?
(A) A 3R B (B) AR L
(C) B3R G (D) L3R H
19. WM ¥ &R 37 HeAhRl i <A € S Tdh f € SN
SRR off B2
(A) A 3R D B) G @R H
(C) C @R A (D) C 3R D
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Unfold Every Question

Part - I (General Intelligence)

Directions (1-10 ) : Select the related letters/ 12. (A) DEFG (B) FEHI
word/ number/ figure from the given (C) HGIK (D) JILM
alternatives. 13. (A) ZVRN (B) UQMJ
1. Safe : Secure : : Protect : ? (C) SOKG (D) TPLH
(8) guard (B) lock 14. (A) 52,68 (B) 63,77
(C) sure (D) conserve (C) 64,80 (D) 50, 66
2. Pound :Yen::Polo:?

15. An accurate clock shows 12 o'clock in the

(4) Hockey (B) Horse noon. Through how many degrees will the
(C) Stick (D) Ride hour hand rotate when the clock shows 5
3. ACEG:IKMO::QSUW:? o'clock on the same evening?
(A) YZCE (B) YACD (A) 150° B) 154°
(C) YBCE (D) YACE (C) 125° (D) 120°
4. 16:56::32:7 16. A,B,C,D,E,F & G are sitting in line facing
(A) 96 (B) 112 the East. C is immediate right of D. B is at
(C) 120 (D) 128 an extreme end and has E as his neighbour.
S. Hour : Second : : Tertiary : ? G is between E and F. D is sitting third from
(A) Ordinary (B) Secondary the South end. Who are the persons sitting
(C) Primary (D) Intermediary at the extreme ends?
6. 182:?::210:380 (A) Aand E (B) Aand B
(A) 342 B) 272 (C) Fand B (D) Cand D
(C) 240 (D) 156 17. Sita is the niece of Ashok. Ashok's mother
7. 7:17::?:49 is Lakshmi. Kalyani is Lakshmi's mother.
A) 23 (B) 26 Kalyani's husband is Gopal. Parvati is the
(C) 124 (D) 126 mother-in-law of Gopal. How is Sita related
8. DEAD:WVZW::FGCF:? to Gopal?
(A) UTXU (B) TUUX (A) Great grandson's daughter
(C) UXTU (D) UUTX (B) Gopal is Sita's father
9. Question figures (C) Sitais Gopal's great grand daughter
(D) Grand niece
w7 Directions : Question Nos. 18 - 19 are based on
E‘%J:r\SJ: . —é{(éj . 2 the following figure. Study the figure carefully
) and answer the questions
Answer figures A Artists
” > Scientists . B
{ J { J E L Dancers
4 4
Doctors
(A) (B) ©) (D)
10. Oasis : Desert::?: Sea
(A) Island (B) Peninsula 18. Which letters represent the Artists who are
(C) Backwaters (D) Cliff neither Scientists nor Doctors?
Directions (11-14): Find the odd word/ letters/ (A) Aand B (B) Aand L
numbers/ figure from the given responses. (C) Band G (D) Land H
11. (A) Reward : Punishment 19. Which letters represent the Artists who are
(B) Objection : Permission Dancers as well Doctors?
(C) Sharp : Blunt (A) Aand D (B) Gand H

)
(D) Cold : Cool (C) Cand A (D) Cand D
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Unfold Every Question

Tt (20-23 ): wya forg & I W A | w@n Tt
I el §7 (W9ER ufen)

20.

21.

22.

23.

24.

25.

26.

(4) 35 (B) 32

(C) 22 (D) 19

(A) 04 (B) 01

(C) 02 (D) 03

12 18 30 16 32 40 36 18 27
6 8 ?

(A) 6 B) 9

() 12 (D) 18

7 21 15

49 441 225

98 882 450

140 1302 ?

(A) 6750 (B) 690

(C) 1980 (D) 660

uie Wig® T dfek H 9B U R A, BH <@ €, E, B
% 9 €, W C @ 21 4K A, D& o1& € a arel

T HH dal g 22
(A) E (B) B
(C) A D) C

frfofad & § sH-a1 fas s steamas], enfia
ST stearasRl SR Ay sreATgeR] & e wREY

e & 872
o OrleiD|aD|Oe
(D)

A& B  ©
40 Taetedl % % T § % fFHe Ood €, BB
Al Beld & 3R w5 <A1 A% 30 TR Ter € @R
20 IFT, A1 3% 99 3@ | &y & 1wl adeh
-9 7?2

(20)
(1) (@D C@D

C F C F C F
(A) (B) ©) (D)

o (27-31): T ot ¥ @ W@/ 31eR/ SMTeRfa

T iUl
27. CGK,EJP,GMU, ?

(A) IRT (B) IPZ

(C) FNV (D) JLN
28. 7,22,37,?,67,82

(A) 40 B) 42

(C) 52 (D) 62
29. 4,24,48,80,?,168

(A) 120 (B) 108

(C) 96 (D) 72
30. 264,396,473,583,?

(A) 597 (B) 673

(C) 729 (D) 792
31. WA ITeRfa

(<]
Cr ?
ST ATeRTa

(A) (B) ©)

o (32 ):.F=fafaa uga o stuen fr=feafaa udient
& I ER T T fawedt ¥ ¥ WET ST @ R

32.

33.

34.

AE > =+, <=+, A=-, X =<,-=> +==
RV = x

(A) 6>3<2A4y8-13

B) 6A3<2>4,8+13
C)b6v3A2>4<8x13

D) 6v3>2<48x13

e T HH T UG Tell TH T FHAR W 4 &
TE SI&R g@en &l U HEM?

a_ab _bcbc _caca _

(A) ccba (B) acba

(C) becb (D) bcab

T gEel & FHTE 3er & ot ol Bie T e
o T 1 HH B 1 W} Frefetea geensi

o 9 forad =9 fom &1 ge[ fRa T 22
(A) DJOTV (B) DJOSV
(C) DJOSW (D) DIOSU
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Directions (20-23): Which one number can be
placed at the sign of interrogation ? (Read
columnwise).

20.

(4) 35 (B) 32
(C) 22 (D) 19

XD GXD OO
525 S &S

(A) 04 (B) 01
(C) 02 (D) 03

22. 12 18 30 16 32 40 36 18 27

6 8 ?
(A) 6 (B) 9
(C) 12 (D) 18
23. 7 21 15

49 441 225
98 882 450
140 1302 ?
(A) 6750 (B) 690
(C) 1980 (D) 660

24. Five boys are sitting in a row. A is on the
right of B, E is on the left of B, but to the
right of C. If A is on the left of D, who is
sitting in the middle?
(A) E B) B
(€) A D) C

25. Which one of the following figures
represents the relationship among English
Teachers, Popular English Teachers and
Unpopular Teachers ?

OOO@D@XD @o

(A) (B) ©) (D)

26. In a group of 40 players, some play cricket,
some play football and some both. If 30 play
cricket and 20 both, the correct way of
representing above by Venn Diagram is

() |©ED|EEID

\
C F|CF|CF|CTF
(A) (B) (

Directions (27-31) : Find the missing number/
letters/ figure from the given responses.
27. CGK, EJP,GMU,?

(A) IRT (B) IPZ
(C) FNV (D) JLN
28. 7,22,37,?,67,82
(A) 40 (B) 42
(C) 52 (D) 62
20. 4,24,48,80,?, 168
(A) 120 (B) 108
(C) 96 (D) 72
30. 264,396,473, 583, ?
(A) 597 (B) 673
(C) 729 (D) 792

31. Question figures

S =Ek

Answer figures

DD |

(A) (B) ©) (D)

Directions (32 ): In the following question you
have to identify the correct response from the
given premises stated according to following

symbols.
32. If>=+,<=+,/\=-,x=<,_=>,+==
and Vv = x

(A) 6>3<2r4yv8-13
B) 6A3<2>4,8+13
C)6v3A2>4<8x13
D)6 Vv3>2<4A8x%x13

33. Which one set of letters when sequentially
placed at the gaps in the given letters series
shall complete it?
a_ab _bcbc _caca_
(A) ccba (B) acba
(C) beeb (D) bcab

34. The number of letters skipped in between
adjacent letters in the series is decreased
by one. Which of the following series
observes the rule?
(A) DJOTV (B) DJOSV
(C) DJOSW (D) DIOSU
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fordt amon o

1. PIC VIC NIC 1 a1¢f € ‘vficehret gvet &

2. TO NIC RE 1 319 & ‘tfisehret TRy @

3. RE THO PA =1 &1 ® ‘Td e &'
“fismeRTet’ & folT 2 v -1 2

(A) TO (B) NIC

(C) PIC (D) VIC

I ASSIGN =t Fg A1 § SAISNG fown s, @t
KIDNAP @1 feran S|

(A) IKNDPA (B) IKDNPA
(C) IKDNAP (D) IKAPDN

37. fr=fafad auf w fo=m wifsu:
1600, 1700, 1800, 1900, 2000, 2100, 2200,

35.

36.

2300 3’ 2400

STEE ¥ forae siferad @7

(A) = TS B) 3
C) 6 D) 9

T U 9 Her § feren T g1 s 9% 6N v
fora T R T O i v 9 el Al veE & SaeRi
BN el ST ST Hehd &1 39 V1% I YeEN ford feran

38.

ST Hehal 8-

ALTERNATIVES

(A) TELEVISION  (B) RENOVATE
(C) RESPITE (D) TRAINS

39. fiu T famfeas weal # 9§ 39 ¥ &l 9T & fag
T 95 o AW o YA g el foran S Hehal ¢

OUTRAGEOUS
(A) GREAT (B) OUTAGE
(C) SURAT (D) GREGARIOUS

ot (40): e St wyw faw @ § Bk e W=
fasrew 378 ke ot WEt Tewd @t faerea g -
40. wft wfyrEmErE gfgam e 2

Goft =l #)

41.

42.

43.

44.

frfafed s spfal § ¥ I8 9 sifve & =
@ ST{OR ST 8 "iegd, 99 & q1 @ier &

e 98 Ty st S famms 2
TS SR
N
I 3R
©o o ls 38 L3S 3 o
(A) (B) (€ (D)

frforfea & § fFa 3w ol & 4 1 st i 82
U IATeRiq

D

ST ATeRTa

(A) (B) ©) (D)

FHA T o7 a1 ¥ 5 N w1}, S o 9 [
T2 = B 21 AR T 8 o w1, @ FHA BT g
1 BT ?

(A) 30 d (B) 24 ¢

(C) 40 = (D) 28 =

= T o % =R 399 KU M €| g el W ED
favm fare sifera 31 Xfee o) ot & TH@ werh
W - o @ 3m?

U TR

5

(1) (2) (3) (4)
Entdcicane )
(1] © | &A | X
(A) (B) ©) (D)
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35. In a certain language
1. PIC VIC NIC means 'winter is cold'
2. TO NIC RE means 'summer is hot'
3. RE THO PA means 'nights are hot'
Which of the following is the code for

'summer'?
(A) TO (B) NIC
(C) PIC (D) VIC
36. IfASSIGNis coded as SAISNG then KIDNAP
is coded as
(A) IKNDPA (B) IKDNPA
(C) IKDNAP (D) IKAPDN

37. Consider the following years:

1600, 1700, 1800, 1900, 2000, 2100, 2200,
2300 and 2400
How many leap years are there in the above?
(A) None B) 3
(C) 6 D) 9

38. A word is given in capital letters. It is
followed by four words. Out of these four
words, three can not be formed from the
letters of the word in capital letters. Point
out the word which can be formed.

ALTERNATIVES
(A) TELEVISION  (B) RENOVATE
(C) RESPITE (D) TRAINS

39. From the given alternative word, select the
word which cannot be formed using the
letters of the given word:

OUTRAGEOUS
(A) GREAT (B) OUTAGE
(C) SURAT (D) GREGARIOUS

Directions (40) : Two statements are followed
by alternatives. Mark the correct alternative
that follows:

40. All Asians are wise
All chinese are Asian
(A) Some Chinese are not wise
(B) All wise are Chinese
(e
(D

) All Chinese are wise
)

No conclusion follows

41.

42.

43.

44.

A piece of paper is folded and punched as
shown below. From the given responses,
indicate how it will appear when opened.
Question figure

..............

yaNd

Answer figures

5 o DO % s o
®60° 0,°° 0 00 ° 5.9
(A) (B) (©) (D)

In which answer figure is the given figure
embedded?
Question figure

Answer figures

(A) (B) ©) (D)

Kamal is 5 times older than his sister,
Geeta, who is 2 years younger than her
brother Ram. If Ram is 8 years old then what
will be the age of Kamal?

(A) 30 years (B) 24 years

(C) 40 years (D) 28 years

Given below are four views of a cube. Each
face is marked with a certain symbol. Which
symbol will appear on the face opposite to
the face having symbol xx is?

Question figure

S
(1) (2) (3) (4)

Answer figures

(1] ©

(A) (B) ©) (D)
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45 wEme s e A s 49. o fasheat § @S- faehen o fd 5o ol
i ?w864253 - 2. 842563 il i ¥
3. 825643 4. 834562 e
5. 852463 1. 3 2. °
A) 1,3,2,5,4 B) 2,4,3,5, 1 3. 4. =
(C) 3,4,2,5,1 D) 4,5,3,1,2 S. st 6. =
46. IW fomedl ¥ 9N Hem gy KU T ¥, T § 39 (A4) 2,3,4,5,6,1 (B) 6,1,4,5,2,3
W_W—Oﬁqﬁﬁﬁwﬁmmwﬁ (C) 2’3’4>6>5>1 (D) 2’6’4>3,5,1
s dY Ao @ B 50. T VI sheiel Teh W& THE R 9l 7§, S o
. faehedl § ¥ foreht wh o fon mn 71 fawedi # fRw Mo
feefl T 3 (2, 10, 58) Fe-ge el % o9 N qwie M ¥, S8 fm A
(A) (4,20, 118) B) (7,42,49) fau M < ool | €1 oy 1 & Ty iR ufed
(€) (12,24, 47) (D) (9,27, 81) TN 09 4 A TE R &R SRR F 5 W 91 T TgE
e (47) : afe Te FUOT B MN T@T W @M S, T T 78R 1 Te IHH] URR SR 9% § T Tewn
faq 7w ST ® | e W o W wfafaw g 2 TR ST 7T ST Hehell B S0 % oI A W 04,
w7 M 10 € g <91 S Hehal € 21 ‘B’ &1 59, 65 A1
' SN <9I ST Hehel €1 6 e W SRl w9 § T
WATER T 71 MARBLE & Tt @ 9 we=nu|
N 3MSTE 1 3MeTE 1
ol1|2]3|4 5|/6(7]8]9
(A) AELAW (B) aaLAw olrlTI|S|M|A s|lElglL|OIB
(©) gaaraw (D) gaarLAm 1|A|R|T|S|M 6|B|E[G|L|O
48. TrAfafeaa vt =t wEwiwr ¥ fau T W & 2|M[A|R|T]S 7|10|B|E|G|L
e o 3|S[M|A[R|T 8|L|O|B|E|G
1. ladder 2. lazarus 4|TISIM[AIR 9|G|LI|O[B|E
3. laboratory 4. landscape (A) 20, 21, 23, 65, 79, 87
5. lavender (B) 42, 43, 22, 87, 57, 66

)
(4) 3,4,1,2,5 B 3,1,4,5,2 (C) 31, 10, 12, 58, 86, 55
(€) 2,1,4,5,2 D) 4,5,3,2,5 (D) 14, 32,41, 98, 96, 88
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Unfold Every Question

45.

46.

Arrange the numbers in ascending order:

1. 864253 2. 842563

3. 825643 4. 834562

5. 852463

A) 1,3,2,5,4 B) 2,4,3,5,1
€ 3,4,2,5,1 D) 4,5,3,1,2

Find out a set of numbers amongst the four
sets of numbers given in the alternatives,
which is most like the set given in the
question.

given set (2, 10, 58)
(A) (4,20,118)

(C) (12, 24, 47)

(B) (7,42, 49)
(D) (9,27, 81)

Directions (47): If a mirror is placed is placed
on the line MN, then which of the word is the
right image of the given word?

47.

48.

M
WATER
N
(A) IELAW (B) g9aLAwW
(C) aaTtaw (D) aaLAm

Arrange the words according to Dictionary.

1. ladder 2. lazarus

3. laboratory 4. landscape
S. lavender

(A) 3,4,1,2,5 B) 3,1,4,5,2
€ 2,1,4,5,2 D) 4,5,3,2,5

49.

50.

Which one of the given responses would be
a meaningful order of the following?

1. Book 2. Alphabets
3. Paragraph 4. Sentences
S. Chapter 6. Words

A) 2,3,4,5,6,1 (B) 6,1,4,5,2,3

< 2,3,4,6,5,1 (D) 2,6,4,3,5,1

A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given
in the alternatives are represented by two
classes of alphabets as in two matrices
given below. The columns and rows of
Matrix I are numbered from O to 4 and
that of Matrix II are numbered from 5 to
9. A letter from these matrices can be
represented first by its row and next by
its column, e.g., 'A' can be represented
by 04, 10 etc. and 'B' can be represented
by 59, 65, etc. Similarly, identify the set

for the word MARBLE.

MATRIX - 1 MATRIX - II

01121314 S5|16(7]8]9
O|R|T|S|M|A S|E|G|L|O|B
11A|R|T|S|M 6|B|E[{G|L|O
2[{M[A|R|T|S 710|B|E|G|L
3[S|IM|A|R|T S8|{L|IO|B|E|G
4|1T|SIM|A|R 9|G|L|O|B|E

(A) 20, 21, 23, 65, 79, 87
(B) 42, 43,22, 87, 57, 66
(C) 31, 10, 12, 58, 86, 55
(D) 14, 32, 41, 98, 96, 88
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~ 11 (3TRITTUT)

51. H®&AM 2272 TAT 875 &1 Teh 9 3Tkl i W& § AT
T W I ATHA I B &1 N & i1 o1 A 2-

(A) 10 (B) 11
(C) 12 (D) 13
52. 17°° @ 18 ¥ fawed & T %A F SN2
(A) 17 (B) 16
()1 (D) 2

53. 13 U Sl A - T&A3T h1 HewH GHIIedH
13 & qo oW GHIIEAs 273 B 3 gEmst &

TR A B
(A) 286 (B) 288
(C) 290 (D) 130

54. T& FHMEN 5N 33 97 991 W 11 T & fasha-ea
F I A B F1 AT Hfqer A it
(A) 40% (B) 50%
(C) 70% (D) 90%
55. F AN F22 30%, 20% A 10% % TAGET Ll
1 BAM?
(A) 50% (B) 51%
(C) 49.4% (D) 49.6%
56. U IS qo T U & 3ifehd e i U 1 : 2
¥ I THMIR HHIS W 40% 9221 A1 Al R He

30% T d Y2 W e s fean
(A) 15% (B) 20%
(C) 25% (D) 30%

57. T foemem | e qon @iefRar 3 ;2 & o uE |
B3 20% TR T 30% AR I BEEN e &

&, @ BEe A fHer el frad giavra faeneff 22

(A) 50% (B) 72%

(C) 75% (D) 76%
58. TH g9 &I - H 1% Ifg TH W THH %A |
foram wfaera gfg =2

(A) 1% (B) 2.01%

(C) 2% (D) 1.1%

59. 9 fiyefieliet &ieM | 50% fewed &1 398 fordan ot
STl S T 30% SToehied el <N 9 S ?

(A) 3 . i (B) 4 fa. <.
(C) 5 fu. =fi. (D) 6 fa. <.

1 1
60 (Bivs 5 W2 BB T
1
(A) O (B) 5
(C) 1 (D) 42

61. ek WEA AIF bl W a1 | SHeRT THIE 3ok LT ek
1 75% B ST oAk, Yk & i U 1 1w B1 A <@g
3 AU ThS & 3k 1AM 15 T, q G& L2

(A) 687
(B) 786
(C) 795 (D) J@ & &1 S Hehdt
1 1 1) 24
62. AR ox _ 4y _ gz B qM (2—x+@+gJ:7€l
a th‘ItI'FI%—
7 7
(A) 6 (B) 32
7 7
(c) 28 (D) oa
63. e T | i 9 S h1 S S5 : 2 1 AR

17.5 fob. 7. fagor # 1.25 fo. . s faen fean s

@ T3 fagor § 91 e S 1 ST 8-

(A)1:2 (B)2:1

(C)2:3 (D)3 :2
64. T Sd A 9o B H ¥ SR U KT ST 4 ;3 el
2 :3 1T S @ fagon w1 fRE e | et adA
C ¥ e o 38 o fagor ® eqmen gu iR eqen o @
(A)1:1

(B)1:3

(C)1:2 (D) 7:5
2 STRHT q 3 A THarR forelt &vrd &1 10 7 o
TAI T Gohd & SHfeh 3 ST A1 2 e TH wE
w1 8 7§ qu X whd T 2 A qen 1 oA
et 39 & & fhad 9 o 99 i3 O

65.

(A) 13%1’@ (B) 13 &=

(C) 121%? (D) 14 fe=
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Unfold Every Question

Part - II (Airthmetic)

51.

52.

53.

54.

55.

56.

57.

58.

59.

The number 2272 and 875 are divided by a
three-digit number N, giving the same
remainder. The sum of the digits of N is:-

(A) 10 B) 11

(C) 12 (D) 13

If 1720 is divided by 18, the remainder will be:-
(A) 17 (B) 16

)1 (D) 2

The H.C.F. and L.C.M. of two different
numbers, both greater than 13, are 13 and
273 respectively. Then the sum of the
numbers is

(A) 286 (B) 288
(C) 290 (D) 130
By selling 33 pens, a shopkeeper gains the
selling price of the 11 pens. Find his gain
percent.
(A) 40% (B) 50%
(C) 70% (D) 90%
A single discount equivalent to successive
discounts of 30%,20% and 10% is:-
(A) 50%

(B) 396%
Rt e tked prize of a shirt and trousers
are in the ratio 1 : 2. The shopkeeper gives
40% discount on the shirt. If the total
discount on both is 30%, the discount offered
on the trousers is:-
(A) 15%

(B) 20%
(C) 25% (D) 30%
The ratio of the number of boys and girls in
aschoolis 3:2.1f20% of the boys and 30%
of the girls are scholarship holders, then
the percentage of students who do not get
scholarship, is:-
(A) 50%

B) 72%
(C) 75% (D) 76%
The radius of a circle is increased by 1%.
than the percentage increase in area is:-
(A) 1%

(B) 2.01%
(C) 2% (D) 1.1%
9 ml of a lotion contains 50% alcohol. How
much quantity of water should be added to
the alcohol to make it 30% alcoholic lotion ?

(A) 3 ml (B) 4 ml

60.

61.

62.

63.

64.

65.

1

1
The value of (\/§+\/§_\/§)+(\/§_\/§_\/§)13—

1
(A) O (B) 2
€)1 (D) v2

In a three-digit number, the digit in the
unit place is 75% of the digit in the tens
place. The digit in the tens place is greater
than the digit in the hundred's place by 1.
If the sum of the digits in the tens place
and hundreds place is 15, What is the
number?

(A) 687 (B) 786
(C) 795 (D) Can't be determined
1,1, 124

If 2= 4v = 82 and 2x 4y 67 - , then
the value of z is -

A) — B)

o7 o7

() 48 (D) 64

In a alloy, the ratio of copper and zincis 5 : 2.
If 1.25 kg Zinc is mixed in 17.5 kg of alloy,
then the ratio of copper and zinc in the new
alloy will be:

(A)1:2 B)2:1

c)2:3 D)3:2

Milk and water in two vessels A and B are
in the ratio 4 : 3 and 2 : 3 respectively. In
what ratio the liquids in both the vessels
should be mixed to obtain a new mixture

in vessel C containing half milk and half
water?

(A)1:1 B)1:3
Cc)1:2 D)7:5
2 men and 3 boys can do a piece of work in
10 days while 3 men and 2 boys can finish

itin 8 days. Number of days taken by 2 men
and 1 boy to finish it will be -

1
(A) 135 days (B) 13 days

1
©) 125 days (D) 14 days
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Unfold Every Question

66.

67.

68.

69.

70.

71.

72.

73.

74.

A &1 & &mar B 9 T 1 A S faerR fRdt
w1 12 57 o Tara 3, 9 B 3Tehel 39 & &l
forae fe7 o s wam?

(A) 24 f&7 (B) 27 f&1

(C) 36 T (D) 48 fe=

T el Tordt Y F 6 5 H e 81 oMt T W EH
W A U el SR @it A W B 1 Rl Rl W W R
fora =g o m?

(A) 3 82 15 fife (B) 3 =2 45 e

(C) 4% (D) 4 %2 15 fae

T FR TH fag T e I WER g TSH W
HUIN: 36 ToRHi/=er qen 48 forti/=er &1 = § werdt
2, 15 Yovg 9] ST o= &1 g0 forat emit?

(A) 150 HIX (B) 250 HIX
(C) 300 "X (D) 400 HIX

TR0 1 9 TRl o &1 5 a9 &1 fAgem 5200 €99
2 au 7 o 1 THHEE 5600 T B1 9% 4 foRa o

(A) 1880 ¥93 (B) 4200 ¥99
(C) 2120 & (D) @Imhe erar

5000 TTF T THH T H 2 9 P Tohglg S a0
HIYROT &1 &1 3T 72 99 ¢| =S 1 ot L
feert 272

(A) 6% (B) 8%

(C) 10% (D) 12%

T FAHR e e 1.75 HeX 71 11 R 9@
FH | I8 fohad TR MM

(A) 10 (B) 100

(C) 1000 (D) 10000

T 1 & A<Iga a1 IR o STkl 1 ST I
gr?

(A)1:2 (B)2:3

(C)3:4 (D)4 :5

Tt 9o &t FAE | 15% Ihg FT A1 34D AER
F B ° 10% FH FH W TS a6 T8 H R
TR gm?

(A) 3.5% &HT (B) 3.5% 9fg

(C) 5% HHt (D) 5% gfs

Th Vi, Th TG-Tel qN Tk oo & R
T T THE § qe1 S SeRdl T §EE 2
T AT 1 S Feha €2

(A)1:2:3 (B)2:1:3
(C)2:3:1 (D)3 :2:1

1
75. Afg 2a—%+3=0%‘l , (a‘o’—?ﬂj T T B

—40 63
(A) — (B) Y
35
(C)s (D) ry
x%+y?
76. AR x=2+\/§,y=2—\/§33f, Gl x3+y3_°m HH
F BM?
7 7
(A) 38 (B) 20
7 7
(C) It} (D) 2%

77. AR (1x2x3x4x... ¥n =|n =, @
(1413 -[12) TR &-
(A) (14x12x[12) (B) 14x12x(13)
(C) 14x13x(13) (D) 13x12x(12)

78. A x+y=z B, AATE x°+y° - 2° —3xyz H
M BAT-
(A) O (B) 3xyz
(C) -3xyz (D) 28

Y
79. 3R OSaSE A Osina +15cos2q = 78
coto 1 AM fwaen gmm?

(A) (B)

NS

(C) (D)

NI

80. qﬁ‘; X = CosecC 9—sjn93ﬁT y=SeC9—COS@33[ ?‘ﬁ

x2y?(x? + y? + 3) 1 AE F1 BAN?

(A) O (B) 1
2 2
81. 3 lcos?O+msin?0 = cos ‘9(003260 0+1) a4
cosec’d -1
(0°<0<90°) T tanp = ?
-2 -1
A ® \37m
[-2 2-1
© \1om (D) |-
-m 1-m
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66.

07.

68.

69.

70.

71.

72.

73.

74.

A work twice as fast as B. If both of them
can together finish a piece of work in 12
days, then B alone can do it in
(A) 24 days (B) 27 days
(C) 36 days (D) 48 days
A tap can fill a tank in 6 hours. After half
the tank is filled, three more similar taps

are opened. What is the total time taken to
fill the tank completely.

(A) 3 hrs 15 min (B) 3 hrs 45 min

(C) 4 hrs (D) 4 hrs 15 min

Two cars start at the same time from one
point and move along two roads at right
angles to each other. Their speeds are
36km/hr and 48 km/hr respectively. After
15 seconds, the distance between them will be:-
(A) 150 m (B) 250 m

(C) 300 m (D) 400 m

A sum of money at simple interest amounts
to Rs. 5200 in 5 years and to Rs. 5600 in 7
years. The sum is
(A) Rs. 1880
(C)Rs. 2120

The difference between compound interest
and simple interest at the same rate on
Rs. 5000 for 2 years is Rs. 72. The rate of
interest per annum is

(A) 6% (B) 8%

(C) 10% (D) 12%

The radius of a circular wheel is 1.75 m.

How many revolutions will it make in
travelling 11 km?

(A) 10 (B) 100

(C) 1000 (D) 10000

The ratio of the areas of the in-circle and
the circum-circle of a square is—

(A)1:2 B)2:3

(C)3:4 D)4:5

If the height of a cylinder is increased by
15% and the radius of the base is decreased

by 10%, then by what percent will its curved
surface area increase?

(A) 3.5% decrease (B) 3.5% increase
(C) 5% decrease (D) 5% increase

A cone, a hemisphere and a cylinder have
equal radii of their bases and equal heights.
The ratio of their volumes is

(A)1:2:3 B)2:1:3
Cc)2:3:1 D)3:2:1

(B) Rs. 4200
(D) Data inadequate

75.

76.

77.

78.

79.

80.

81.

If 2a—g+3=0then find the value of
a

3 1 j
a’——+2] is-
( a3 1S

-40 63
@ > B -
€5 o) -

is-
x3 +y3

7 7
38 40
7 .
19 (D) 26
If (1x2x3x4x.. ¥n =[n then
(14 - 13 -[12) are equal to -

(A) 14x12x|12)  (B)14x12x(13)

(C) 14x13x(13) (D) 13x12x(|12)
If x+ y = z, then the value of the expression

(A) (B)

(€)

12 +y3 -2 -3xyz will be -
(A) O (B) 3xyz
(C) -3xyz (D) 2°

If Oﬁaégand 2sina +15cos?q = 7 then

find the value of cota .

(A)

(€)

Alw NI=

If x = cosecH-sin® and y= secO—cos0, then

the value of x?y?(x? + y? +3) will be

(A) 0 (B) 1
(C) 2 (D) 3

cos? 6(cos ec?0 + 1)

If lcos® 0 +msin? 0 = then

cosec?0 -1
(6°<0<90° then tano="?

-2 -1
(A) B) o
-2 2-1
C) 1o (D) T,
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82. 4f sin(10°6'32")=a &, d cos(79°53'28") + 1 494
tan(10°6'32") 1 7 27 88. £ +999,5=x99H [T -
J1-a? +a a1-a2 +1 (A) 99000 (B) 9900
(4) J1-a? (B) 1-a2 (C) 98000 (D) 98900
a(l +V1-a?) 1+y1-a? 89, 4_;1—*—[“%_
© T (D) T T
83. AR ax+by=3, bx—ay=4 AR 2+ =18, 3+2+l
a? + b? &1 HH Fd Hi- 4
(A) -1 (B) -25 . 4
()1 . (D) 25 (A) s (B) 5
84. ﬁ?ﬁgqgﬂ H, AB%C=60° dq LBCA =20°,
ZADChI HHE {Ad | 31 40
(C) 20 (D) 31
90. k& 9 7H & fau w0l kx—y—2 =0 qen
6x — 2y — 3 = 0 &1 3Afgda g I grm?
(A) k=3 (B) k+3
(C) k=2 (D) k=2
91. T Ufd qen et fSent 7 o q& ¥maT g8 off, et
I F G fEd g 25 I offl 3T I e URER
(A) 50° (B) 60° forae ofq-uctt den 39 srafy § g1 gon Tk e ot
(C) 70° (D) 80° wftafed €, 1 ofed g 22 o 21 o= i oauH
85. fertll SEYS 1 STRIHIT 700 € a1 Y[l 1 WA 71 1 ferat 82
w2 (A) 4 7 (B) 3 =
(A) 4 (B)5 (C) 2 o8 (D) 6 74
(C) 6 (D) 7 92. ot fereneff w1 4 fowai § oirea 75 o7k W B €
86. afe fed @ fest ® PR||AB,PQ||BCde g 3@ 5 9 T | 80 ek W B € q o afi|a
OR||CA # @8 AC & QR % = grarsl 82 TN &7
(A) 80 (B) 76
R (C) 92 (D) 95
93. A, B 3R C SH: 10, 12 T& 15 A & % g0 &
Tohd €1 Ak B J A 9 w1 w1 g FR Al A
C B R C F W F [ F P T
8 8
(A) QH e (B) SH =
P A Q 6 6
(C) 2T (D) 3, fA
(A) AC=OR (B 24C? - OR? 04, A FrHE B F A T 1 T frem 3
(C) AC=BQQOR (D) ACQR=1 FTH A 15 Focfl ° 0 F T € B T e A
87. W fF A i B 2 fag #1 fag P &1 famgmey 11 2 el  wTe % <
SR APB - 90° 21 (A) 40 f= (B) 50 f&7
(A) % Y@ AB (C) 60 f&a (D) 80 f&a
(B) @ fag P 95. AR x=02443 B, A X2 —4x+ 2 H °H F1 TMM?
(C) AB & =9 a1l g9 @i TRy (A) 1 (B) 2
(D) AB R & 3R AB 1 fguiferd s st 3@ (C) 3 (D) 4
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82. If sin(10°6'32")=a then find the value of 1 494
cos(79°53'28") + tan(10°6'32") 88. The value of s + 999@ x99 is-
N-d® +a al—a? +1 (A) 99000 (B) 9900
(&)~ 2 B~ 7= (C) 98000 (D) 98900
all + /1—a2) 1++1-a2 89. The value of 4 - 51 is -
C) —FT7—— D) —F/—— 1
) V1-a? (D) V1-a? +3+ 1
1
83. Ifax+by=3, bx—-ay=4and x*+y?>=1then 2+Z
the value of >+ b?
(A) -1 (B) 25 A 1 5 4
(C) 1 (D) 25 (A) g B) 3
84. In the given figure /BAC=60°and
/BCA = 20°, find the value of ~ADC (C) 31 (D) 40
40 31
90. For what value of k, the system of equation
kx-y-2=0and 6x-2y—- 3 =0 will have
unique solution ?
(A) k=3 (B) k=3
(C) k=2 (D) k=2
91. The average age of a husband and wife, who
(A) 50° (B) 60° were married 7 years ago, was 25 years at
(C) 70° (D) 80° the time of their marriage. Now the average
. . age of the family including husband, wife
85. Exterior angle of a polygon is 72°then find . . . .
th b feid ool and a child born during the interval is 22
¢ number ol sides ol polygon years. What is the present age of child?
(A) 4 B) S (A) 4 years (B) 3 years
(C) 6 (D)7 (C) 2 years (D) 6 years
86. Inthe following figure PR| |AB,PQ| |BCand | 92. The average mark of a student in four
QR| | CA. Then relation between AC and QR is subjects is 75. If the student obtained 80
marks in the 5th subject then the new
R average is
(A) 80 B) 76
(C)92 (D) 95
C B 93. A, B and C can finish a work in 10, 12 and
15 days respectively. If B stops working
after 2 days, how long would it take A and C
to finish the remaining work?
P A Q 8 8
(A) Qﬁ days (B) SH days
1
(A) AC=20R (B) 2AC? = QR? 6 6
2 © ©) QH days (D) SH days
(C) AC = BOOR (D) ACOR =1 94. A is thrice as good a worker as B. Together
87. There are two points A and B. What will be they can do a work in 15 days. In how many
the locus of point P if ,/APB = 90°. days will B finish the work.
. . (A) 40 days (B) 50 days
A) Line AB If
(A) Line AB itse (C) 60 days (D) 80 days
(B) Point P itself
) ) 95. If x = 2+4/3, then find the value of x* — 4x + 2.
(C) Circumference of a circle having diamter AB (A) 1 (B) 2
(D) Perpendicular bisector of AB (C) 3 (D) 4
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Frder (96-100 ): et 3t 7 AR w SAgE e 98, fand ol A fRw wErl & Sard d oiwd ofg
W IS o TaU T u & s diie? et o2
forma @6t ® 6 wufEl & Sared o wfav gig

(A)U (B) T
T (C) s (D) Q

ol P Q |R S T U 99. T S ¥ 2002 H ICARA 357750 Jfe &, al o
2000 [25 [ 30 |20 | 45 | 25 | 45 2001 H THeRT SeUrEA feha en?

2001 20 | 55 | 45 50 45 40
2002 35 | 60 | 35 35 30 20

(A) 340000 FfTe (B) 265000 Ffe

2003 |40 | 30 |25 [ 30 | 55 55 (C) 255000 gfe (D) 230000 If7e
2004 |30 | 40 |30 [ 25 |35 | 15 100. = 2000 # A T 1 IEA 355000 I & a ad
2005 |45 | 45 |40 | 20 |45 | 25 2002 F THHT SEEA foheTl o012
96. 42001 H R & 3RA H g& v Ifg P & I (A) 669175 e (B) 514251 e
¥ g wfaerd 9fg o fohat wfaem eifer 22 (C) 721345 9fTe (D) 422895 g2
(A) 55% (B) 45%
(C) 125% (D) 130%

97. 942000 T a1 § T 2003 H HIA U & IHRA i
wiaer gfg & feram e 272
(A) 22 (B) 12
(C) 18 (D) 10
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Directions (96-100): Study the following table 98. Find the company which has got maximum

carefully and answer the questions given below: % average increase in production in all
Percentage increase in the production of years?
6 companies during the last few years (A) U B)T
v Companies () s D)Q
ar Ip Q [R S T U 99. If Company S has production is 357750 in
2000 25 | 30 | 20 45 25 45 2002, then find its production in 2001?
2001 20 | 55 [ 45 50 45 40 (A) 34000 unit (B) 265000 unit
2002 |35 | 60 |35 [ 35 |30 | 20 (C) 255000 unit (D) 230000 unit
2003 40 | 30 | 25 30 55 55 o )
30 T20 130 s TS 100. If company T has production is 355000 in
2004 25 2000 then find its production in 2002?
2005 45 | 45 [ 40 | 20 45 25

(A) 669175 unit  (B) 514251 unit

1 1,% i in th ti
96 n year 2001, % increase in the production (C) 721345 unit (D) 422895 unit

of R is how much % more than the %
increase in the prodution of P ?

(A) 55% (B) 45%
(C) 125% (D) 130%
97. Find the difference between the percentage

increase in production of company U in the
year 2003 in comparison to year 2000.

(A) 22 (B) 12
(C) 18 (D) 10



SSC Delhi Police Sample Pgﬁ\é;‘B\y www.questionpaperz.in
WWW. quEstionpaperz.in
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WNT - I ( @THT SR )

101.

102.

103.

104.

105.

106.

107.

108.

109.

frfafed gra el ¥ forem T9He 1 & ‘T
T Iy 2

(A) o=

(B) el - 1I

(C) dlo ¥ ‘Wte’

(D) SEFR

Shele TSerens 1 TR Hed ved fhae fgan?
(A) Hio gehaTeA (B) WeTeT Meft
(C) wma fag (D) <1 9 ARt
frefafed o dig o frg wom w i gan?
(A) 9™ (B) R

(C) e (D) ¥ ¥ &g &

wHfex fmior &1 gfag St 9ra & T s o fomtaa
T2

(A) Sl 9 (B) T wra

(C) =faor A (D) 9=\ 9Rd
frefafed & 9 qewed 1 SRHR S o1
(A) SHR 3TEHS (B) 3% 70 @M

(C) SWR Tt (D) Sifst ferde

e 1 1 Ffafed o 9 fofe Tom W gem?
(A) TR (B) HaMR

(C) et (D) TR

IRA % HEIEaE] & Head § [ Th Fel Tl 7
(A) 9% 9Rd &1 vem fafern i €

(B) & 9Nd WhHT 1 fofers Hemeehr &

(C) THeHT o T & FERUH el &
(D) 9% W95 § HaaH 8l Y Fehal

T 1 hrEierRT SRl ffed &-

(A) gum= o (B) #Afmafeg 9

(C) wfiHea o (D) Twgafa ®

frefafed gt o @ % o1 uh g8 gafaa T@ @
(A) 3TFRT - 99 gt

(B) =i - e =

(C) =A - T =

(D) T @RmEd - T gE=

110

111.

112.

113.

114.

115.

116.

117.

118.

119.

frefafed gt o @ *iF o1 v g8 gafaa T@ 8-

ECCE) =i
(A) =nfoeh Geeren I TE T,
(B) wfaums wemem 2FRq0T ST
(C) HHSTHF eree 7, .
(D) Hefta areen 7 TE T,
734 Gfaem geiee geferd 8-
(A) o9&t srgg=t (B) 10 srg=h
(C) 113 g=ht (D) 128 1=t
g | FRE U9 1 gfer’ el S 22
(A) @ faee (B) =T HeHTH
(C) o€ =fm (D) SR ¥ ¥ % ot T
forem ‘feeett e’ &1 A = en?
(A) Ho T&®
(B) wereAn et
(C) g™ =% 919

(D) =1t TR oot

<o forelt g 1 SeaeA U A W 9 W g,
e @A | € 9T I S el €2

(A) SiEd T (B) HHl wmma

(C) %t @FTd (D) fHfed <

I SEE F ©Rd 9 F1 THE HRE 1 72
(A) fe= SR 3R e g

(B) $%9 WAL iR iRt g

(C) Tt SR IR et FIR

(D) S=9 SR IR Fo7 TAR

faaTwa oTere forden! STaHIfa w3 & faars fady
F & fau yRe o T e ?

(A) =feT T (B) =W @i

(C) Yewig stelt =11 (D) 319a o™ 3R
TR S/ 82

(A) T (B) eiaree amft
(C) siafel vea (D) HeR VI
frefafea HF o sara fava it god S+ 39Ra 22
(A) TftFet 2R (B) It Tl
(C) w9 & femel (D) Hga H R

el e-fa@ g5 (S SR fadl & &) fma
MR- & FTa § oSl T A2

(A) i€ aed HewE  (B) wie aifed

(C) @i HHaTe™ (D) <E TaHaRt
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Part - I (General Awareness)

101.

102.

103.

104.

105.

106.

107.

108.

109.

Which among the following Mughal kings
give the title of 'Raja’ to Ram Mohan Roy?
(A) Babar

(B) Akbar-II

(C) Md. Shah Rangila

(D) Jahangir

Who gave the slogan "Inqlab Zindabad' first
time?

(A) Md. Igbal (B) Mahatma Gandhi
(C) Bhagat Singh (D) Dadabhai Naraoji
Buddhism was born at which place among
the following ?
(A) Sarnath

(C) Lumbinivan

(B) Kushinagar

(D) None of these
Dravid Style of temple architecture
developed in which part of India?

(A) North India (B) East India

(C) South India (D) West India

Which among the following was the
Architect of Taj Mahal?

(A) Ustad Ahmad  (B) Ustad Isha Khan
(C) Ustad Khalil (D) George Wittet
Akbar was born at which place among the
following ?

(A) Amarkot (B) Kalanor

(C) Delhi (D) Narnaul

What is not correct about the Attorney
General of India?

(A) He is the first law officer of India

(B) He is the legal advisor of Indian Government
(C) His salary depend on pleasure of Governor
(C) He cannot vote in Parliament

The executive power of the union is vested
in

(A) The Prime Minister

(B) The Council of Minister

(C) The Cabinet

(D) The President

Which one of the following pairs is not
correctly matched-

(A) Income Tax - Union list
(B) Insurance - Union list
- State list

)
(C) Forest
(D) Local self government - State list

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

Which are following pairs is not correctly
matched-

Provisions Sources
(A) Judicial review USA
(B) Constitutional

Amendment South Africa
(C) Parliamentry United Kingdom
(D) Federal system USA

73rd consitutional amendment is related to

(A) IXth schedule (B) Xth schedule

(C) XIth schedule (D) XIIth schedule

Which of the following is known as

'Liberator of press" in India?

(A) Lord Lyton (B) Charles Metcalf

(C) Lord Canning (D) None of the above

Who gave the slogan "Delhi Chalo"?

(A) Pt. Nehru

(B) Mahatma Gandhi

(C) Subhash Chandra Bose

(D) Bal Gangadhar Tilak

The addition made to the total cost when

the production of a good is increased by one

unit is

(A) average cost (B) marginal cost

(C) total cost (D) implicit cost

The main factor for the accelerated growth

of population in India is

(A) Low birth rate and low death rate

(B) A high birth rate and a falling death rate

(C) A rising birth rate and a rising death
rate

(D) A high birth rate and a high death rate

The Khilafat Movement was launched to

protest against the humiliation of

(A) The Turkish Caliph

(B) Aga Khan

(C) Muhammad Ali Jinnah

(D) Abdul Kalam Azad

Varahamihira is a/an

(A) Astronomer (B) Astronaut

(C) Space Shuttle (D) Power Station

Which of the following is the tallest building

in the world ?

(A) Eiffel Tower (B) Burj Khalifa

(C) Statue of Liberty (D) Qutub Minar

The first Anglo-Sikh war was fought

(between the English and the Sikhs) during

the Governor-generalship of

(A) Lord Charles Metcalfe

(B) Lord Hardinge

(C) Lord Cornwallis

(D) Lord Ellenborough
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Which of the following languages was used
by Ashoka for administrative and social

purposes?
(A) Sanskrit (B) Pali
(C) Prakrit (D) Kharosthi

Social ownership of means of production is
a feature of

(A) Mixed economies

(B) Barter economies

(C) Capitalist economies

(D) Socialist economies

Optical fibre is used to transmit
(A) gamma rays
(C) X - rays

The chemical name for Vitamin C is
(A) Ascorbic acid (B) Tartaric acid
(C) Formic acid (D) Ethyl alcohol

(B) cosmic rays
(D) laser beam

Dry ice is

(A) Solid ammonium chloride

(B) Solid carbon dioxide

(C) Solid sulphur dioxide

(D) Solid nitrogen dioxide

The rate of Earth's rotation on its axis is
highest on

(A) 22, December

(B) 4, July

(C) 3, January

(D) None of the above as it never changes
Which river used to be known as 'Sorrow of
China'?

(A) Yangzi (B) Sikiang

(C) Mekong (D) Hwang-Ho

Which of the following fibre crops is grown
on black soil?

(A) Flax (B) Hemp

(C) Cotton (D) Jute

Which one of following is not a natural
esosystem?

(A) Marshy land (B) Aquarium

(C) Forest (D) Grassland

The gas that smells like rotten eggs is
(A) Hydrogen sulphide

(B) Ammonia

(C) Sulphur dioxide

(D) Nitrogen oxide

Question

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

The natural environment refers to

(A) the atmosphere of an area - a forest, a
lake or an ocean

(B) the living organism and non-living
objects or factors in an area undisturbed
by human

(C) the atmosphere in a forest

(D) the plants and animals in a forest

The largest delta of the world is

(A) Sunderbans

(C) Greenland

The canal which links Atlantic ocean with
Pacific ocean is

(A) Suez (B) Malacca

(C) Panama (D) Gibralter

Which of the following is the highest peak
in undisputed Indian territory?

(A) Mount Everest (B) Kanchenjunga

(C) Nanda Devi (D) Nanga Parbat
Which of the following rivers is not the
tributary of Ganga ?

(A) Indrawati (B) Son

(C) Gomati (D) Yamuna

Full form of CFL used in place of electric
bulbs is

(A) compact fluorescent lamp
(B) constantan filament lamp

(B) Amazon Basin
(D) Congo Basin

(C) closed filament lamp

(D) closed fluorescent lamp

Expansion of RDBMS is

(A) Reparable Database Management
System

(B) Relational Database Management
System

(C) Relational Database Memory System

(D) Recurring Database Memory System

The lightest radioactive element is

(A) deuterium

(C) tritium

The 'Green House effect' is caused due to

the presence of excess amount of

(A) Sulphur dioxide

(B) Nitrogen dioxide

(B) polonium
(D) uranium

(C) Carbon monoxide

(D) Methane

"Supply creates its own demand" is the
(A) Law of Demand

(B) Law of Supply

(C) Law of Market

(D) Law of Demand and Supply
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140.

141.

142.

143.

144.

Which type of writs are not specifically

provided in the Indian Constitution ?

(A) Injunction (B) Prohibition

(C) Mandamus (D) Quo warranto

Kharvela, the Kalinga ruler patronized

(A) Buddhism

(B) Jainism

(C) Hinduism (Vaishnavism)

(D) Shaivism

Which of the following geomorphical pairs

is not correct ?

(A) Delta - River

(B) Sinkholes - Wind

(C) Cirque - Glacier

(D) Tombolo - Wave

Mullaperiyar Dam is a disputed issue

between

(A) Kerala and Tamil Nadu

(B) Kerala and Karnataka

(C) Tamil Nadu and Andra Pradesh

(D) Tamil Nadu and Karnataka

Heat of a reaction does not depend on

(A) temperature of the reaction.

(B) the path by which final product is
obtained.

(C) physical states of the reactants and
products.

(D) whether the reaction is carried out at
constant pressure or at constant
volume.

145.

146.

147.

148.

149.

150.

Karagam is a folk dance of

(A) Andhra Pradesh (B) Tamil Nadu

(C) Karanataka (D) Kerala

Who is the writer of the book 'Netaji
Subhash Chandra Bose and Germany?

(A) Anita B. Paff (B) Kuldeep Nayyar

(C) Vikram Seth (D) Amitav Ghosh

The captain of Indian Cricket Team
Mahendra Singh Dhoni was appointed as
the vice-president of which of the following
companies ?

(A) India Cements (B) Tata Steel

(C) Jet Airways (D) India Mart

How many people have been conferred with
Padam Vibhusan award by President of India

recently?
(A) 6 B)S
(C) 4 (D)3

Who of the following Indian business man
transferred shares of ¥ 12,300 crore for a
social cause?

(A) Ratan Tata (B) Anil Ambani

(C) Azim Premji (D) Naveen Jindal

In which following countries was the first
direct Presidential elections held recently?
(A) Eygpt (B) Syria

(C) South Sudan (D) Czech Republic
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Part - IV (English Comprehension)

Directions (Q. 151-155) : Some of the sentences
have errors and some have none. Find out
which part of a sentence has an error and
blacken the rectangle [n] corresponding to the
appropriate letter (A, B, C) If there is no error,
blacken the rectangle [n]corresponding to D in
the Answer Sheet.
151. The woman being an Indian citizen (A)/ for
the last eight years (B)/ she has been al-
lowed to stay on. (C)/ No error. (D)
There has been occasions when (A)/ the
entire opposition (B)/ has walked out of the
House. (C)/ No error. (D)
The latest copy of the book (A)/ is more pref-
erable to any that has been (B)/ published
so far. (C)/ No error. (D)
Scarcely had the doctor left (A)/ after thor-
oughly examining him (B)/ than the patient
died. (C)/ No error. (D)
The teacher did not (A)/ take the test to-
day as all the students (B)/ were not present.
(C)/ No error. (D)
Directions (Q. 156-160) : In these questions a
few words are given. Four alternatives are sug-
gested for each question as their suitable sub-
stitute. Choose the correct alternative out of
the four and blacken the appropriate rectangle
[n] in the Answer Sheet.
156. Impossible to put into practice

(A) unable (B) imaginary

(C) impracticable (D) theoretical

152.

153.

154.

155.

157. A motive merely to get money
(A) covetous (B) greedy
(C) pecuniary (D) mercenary
158. Having to do with beliefs contrary to the
fundamental doctrines of church, school or
profession
(A) sceptical (B) banal
(C) didactic (D) heretical
159. Time and space without limit
(A) limitless (B) finite
(C) infinitude (D) transcendent
160. Harassed by a fixed idea
(A) harangue (B) nervous

(C) obsessed (D) fulminate
Direction(161-170) : Read the passage carefully
and choose the best option for each blank out
of the four alternatives and blacken the
appropriate rectangles in the Answer Sheet.

Driving into Pushkar, it was impossible to miss
those ancient walls (161) like the battlement of
a fortress, on the left side of the main road half
(162) among the trees. Intrigued, I (163) the driver
of my car about the structure. The driver said
that it was an old temple, and not (164) a visit.
So, like others, I headed to the Pushkar Lake
and entered the temple of Brahma and the (165)
waters of the lake. It is reputed that all wishes
are (166) with a (167) in these waters. I, too, took
the dip. Later, religious sentiments (168), I was
free to give (169) to my curiosity, for I had not
been able to get those half-hidden walls out of

my (170).
161. (A) rising (B) erect
(C) emerging (D) imposing
162. (A) visible (B) hidden
(C) emerging (D) viewed
163. (A) told (B) asked
(C) spoke (D) enquired
164. (A) suitable (B) for
(C) worth (D) requiring
165. (A) important (B) pleasant
(C) attractive (D) sacred
166. (A) appeared (B) granted
(C) satisfied (D) heard
167. (A) swim (B) jump
(C)dip (D) ride
168. (A) cured (B) appeased
(C) granted (D) satisfied
169. (A)up (B) over
(C) in (D) of
170. (A) heart (B) mind
(C) thinking (D) feeling

Directions (Q. 171- 175) : In the question, out
of the four alternatives, choose the one which
expresses the right meaning of the given word.
171. Avarice
(A) avoidance
(C) aspiration
Altruism
(A) unselfish interest in the welfare of others
(B) dedication
(C) devotion towards God
(D) self-denial
173.Chide

(A) treat like a child (B) reprove

(C) humiliate (D) poke fun

(B) greed
(D) influence
172.
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174 .Egregious

(A) undaunted

(C) aspiring
175 . Humdrum

(A) noisy (B) intense

(C) dull (D) hearty
Directions: In question numbers 176 to 180,
choose the word opposite in meaning to the
given word and mark it in the Answer Sheet.
176. Pertinent

(A) disconnected

(C) random

(B) healthy
(D) outstanding

(B) irrelevant
(D) frequent

177. Impulsive

(A) methodical (B) crude

(C) deliberate (D) sparking
178. Descent

(A) parentage (B) sinking

(C) elevation (D) calm
179. Exhilaration

(A) lowness (B) dejection

(C) lukewarm (D) hostility
180. Irreverent

(A) respectful (B) magnificent

(C) saintly (D) sincere

Directions (Q. 181-185) : Four alternatives are
given for the underlined idiom/phrase. Choose
the alternative which best expresses the mean-
ing of the underlined idiom/phrase and blacken
the appropriate rectangle [n] in the Answer
Sheet.

181. To cast aspersions

(A) to express doubt

(B) to express false and malicious accusation
(C) to suspect

(D) to restore

To burn the midnight oil

(A) to remain awake

(B) to use too much oil

(C) to work hard till late in the night

(D) to create a lot of light

Through thick and thin

(A) through good as well as bad times

(B) through forests

(C) through all phases

(D) losing and gaining weight

To cave in

(A) to digin (B) to make a hole

(C) to yield (D) to change tune
Call a spade a spade

(A) call things by their right name

(B) to hint

(C) to be frank

(D) to circumvent

182.

183.

184.

185.

Directions (Q. 186-190) : In these questions
sentences are given with blanks to be filled in
with an appropriate and suitable word. Four
alternatives are suggested for each question.
Choose the correct alternative out of the four
and blacken the appropriate rectangle in the
Answer Sheet.

186. The world is fast losing all .

(A) principals (B) principles

(C) goals (D) gaols
187. Both the girls are suffering, one ____ fe-
ver and the other ___ her follies.
(A) with, for (B) with, from
(C) of, for (D) from, for
188. There are many ____ in this poem.
(A) allusions (B) illusions
(C) alludes (D) poetries
189. The teacher _____the boy on his success.
(A) complimented (B) complemented
(C) congratulate (D)wish
190. Fish cannot_____ out of water.
(A) breath (B) breathe
(C) take breadth (D) breadth

Directions (Q. 191-195) : In these questions a
passage is given followed by some questions.
Choose the correct alternative out of the four
and blacken the appropriate rectangle in the
Answer Sheet.

The phenomenon of terrorism signifies violence
by disgruntled groups of people determined to
achieve certain political goals which they find,
are not attainable by lawful means. This men-
ace has lately assumed a global character and
many countries including the U.S.A. are affected
by it. Terrorism is actually an infantile attitude,
a sign of immaturity, just as certain other move-
ments indicate political senility. It is wrong, how-
ever, to believe that terrorists are born. Like
Naxalites, Radicals and Reformers, they are the
victims of certain unfavourable conditions and
circumstances. These circumstances, in turn,
are often the result of tactless government poli-
cies, prolonged delays in redressing political, eco-
nomic and other grievances. Bitterly disap-
pointed individuals or groups resort to violence
in order to focus attention on their problems.
Terrorism sprouts and flourishes where there is
intense anger and resentment against the ad-
ministration, the Government’s lapses and pos-
tures of neglect towards certain discordant ele-
ments feed the unrest, and when this reaches a
high level, it bursts into terrorism. Terrorists
generally belong to the lower middle class, some-
times to well-placed families and poor class.
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191.

192.

193.

194.

195.

Terrorism has lately assumed a

(A) serious threat

(B) global character

(C) national character

(D) Indian character

Like Naxalites, terrorists are the victims of
(A) political interference

(B) unemployment

(C) ignorance
(D) unfavourable circumstances and
conditions

According to the passage, terrorism has af-
fected

(A) Asia (B) Britain

(C) India (D) the entire world
Terrorists belong to

(A) the lower middle class

(B) well placed families

(C) poor class of people

(D) all of the above

Terrorists are bitterly disappointed indi-
viduals who resort to violence in order to
(A) dislodge the ruling party

(B) get employment

(C) focus attention on their problems

(D) terrorise the innocent people

Directions (Q. 196-197) : In these questions a
few words are given out of which one is wrongly
spelt. Choose the correct alternative out of the
four and blacken the appropriate rectangle in
the Answer Sheet.
196. (A) acquiescent (B) tempestuous

(C) celestial (D) cesation
197. (A) lecherous (B) anthral

(C) insured (D) steadfast
Directions (Qs. 198 — 200) : Out of the sen-
tences given below, only one is correct. Tick
mark the response which in your opinion is cor-
rect.
198. (A) No sooner did he saw me, he fled

(B) No sooner did he see me then he fled

(C) No sooner did he see me than he fled

(D) No sooner he me, he fled.
199. (A)He is the man whom met me

(B) He is a man who met me .

(C) He is the man who met me .

(D) He the man is who met me .
200. (A) I asked my mother if I can go out with

my friend.

(B) Iasked my motherifIcould go out with
my friend.

(C) I asked my mother whether if I could
go out with my friend.

(D) I asked my mother whether I can go

out with my friend.
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